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Practice B % Ds  circled problens cmhj

lﬂentify the x—iﬁtercept(s) and vertical asymptote(s) of the graph
of the function.
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Graph the functicon.
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- Simplify the rational expression, if possible.
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: Multiply the expressions. Simplify the result.
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Divide the expressions. Simplify the result.
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Perform the indicated operation and simplify.
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Simplify the complex fracticn.
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Solve the equation by cross multiplying. Check for extraneous solutions.
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Sclve the equation by using the LCD. Check for extraneous solutions. 1
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